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General Instructions Total marks — 100
e Reading time — 5 minutes
+  Working time — 2% hours

* Write using black or blue pen Section I -Pages2 -9

Black pen is preferred 25 marks
* Board-approved calculators may Attempt Questions 1 - 25
be used

. - Allow about 35 minutes for this section
e A formulae and data sheet is

provided at the back of this paper
« Write your answers for Section |

(questions 1 to 25) on the Section 11 — Pages 10 - 24
multiple choice answer sheet

provided on page 26 75 marks
* Write your answers to Section II Attempt questions 26 - 30
(uestions 26 to.30) in theapeces Allow about 1 hour and 55 minutes for this section

provided. Show relevant
mathematical reasoning and/or
calculations

Section I

25 marks
Attempt Questions 1 - 25
Allow about 35 minutes for this section

Use the Multiple Choice Answer Sheet provided on page 26.

1

3

What is 2x(3x — 5) — (7x — 8) in simplest form?
(A) —x — 10

(B) 6x2—7x+3

(C) 6x*—17x+8

(D) 6x*—17x—8

If the average data file is 6.9 MB, how many data files can be stored on an 8 GB USB drive?
(A) 1187

(B) 1159

(C) 1159420

(D) 1215740

The time taken for a pendulum to oscillate varies directly with the square root of its length.

Which of the following equations represents this relationship?

Ay e =41
(B) t = kl®
©t=5%
(D)t = kvl
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8  Which of the followi f es b as the subject of a? + b? = 22
4 Kristen is a real estate agent who earns an annual salary of $65 000. She is paid her salary monthly ich of the following correctly expresses b as the subject of @ c

and earns an additional 3% commission on all property that she sells for the month. How much is her

= (A) b=c*=¢a*
gross pay for the month when she sells $375 000 worth of property?

i o] T
(A) 516 666.67 (B) b=%vVct—a

(B) $5416.67 (C) b=+VcZ+ a2
(C) $11250 D)b=VE—F
(D) $6354.17
9 What is the capacity, in kL of a water tank with a diameter of 4 m and a height of 2 m?
5 The qsurfacc area of this pond is 1790 m®. Which of the following equations was used to determine its (A) 2513.27 kL
area’

(By 25132.7kL

x
==(30+4 7
(A) 1790 = 2(30 + 4 x 37 + 41) (C) 25133 kL

X
(B) 1790 = (30 — 4 x 37 — 41) (D) 2513 kL

() 1?90=’3—‘(4x30+37)+§(3?+4x41) 10 7

10 A ball fits perfectly inside a box with side length 10 em.

x x
(1750 = 3 (4% 30 +37) + 3 (4% 37 +41) How much of the volume of the box is not taken up by the ball?

(A) 3188.79 cm’

6 The mean of seven scores is 41. What two scores needs to be added to increase the mean to 457 3
(B) 476.40 cm

(A) 56, 62 (C) 523.60 cm’
(B Teia (D) 1000 cm®
(C) 52,64
)45, 74 11 Which of the following demonstrates how to find length a?
) (A) a=+v82+127 —2 x 8 x 12 X c0s34° B
7 Which correlation coefficient shows a strong negative correlation?
(B) a=8%+12? -2 x8x12 X cos34° fem a
(A) -1.05
(C) a=+82—122 +2 X8 X 12 X cos34°
(B) -0.85 434 c
— a2 ¢ . o 12cm
(€) 025 D) a=8°+12°"-2x8x12 X sin34
(D) -0.65
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S . . P A group of 1200 university st reved and the resul 1
12 Using the following table of future values, determine the contribution amount you would have to M Agoup o Hversity stiicuts Wete sveyed o esltssooi et in the table Dedod

invest at 8%, compounded quarterly for 3 vears, in order to grow to a future value of $10 000. T
i Body Image
Futurc value interest factors [ About Right | Overweight | Underweight | Total
{Furure valse of an wy with a conmribution of $1 -n.uhclendol'qch period) Female 560 : 163 37| 760
1% 20 3% 3% 5% 6% 8% 10% 12% = Male 295 72 73 | 440
1 LO00G  LOOBO  LOGDO 10000 LODMG  LOOGO 10000 LOOG) 10000 S
b 20100 20200 20500 20400 20500 20600 20800 23000 21200 f Togl 855 235 110 | 1200
3 30301 3064 3009 512160 31525 R1836 32464 331000 33744
4500 40605 4216 L1836 42463 | 431001 43736 dstal | 4640 23793 What percentage of the students who believe they are overweight are female?
SA010 52040 53091 54163 53236 56371 58666 G031 6.3528 (A) 14%
61520 63081 64684 66330 GBUIY 69733 73339 1156 81152
72135 74343 76623 TE9RS | BI420 B398 BY228 U487 10.0SW) (B) 21%
S2857  S5SI0 8023 U214 60T ONYTS 106366 114339 122997
9 Y3685 07546 100591 103828 110266 114913 124876 135795 147757 (©) 31%
UG w0462 100997 114639 120061 125779 130808 149866 159334 17.5467 (D) 69%

06546

LI 115668 121687 128078 134864 142068 149716 166455 18
A2 126823 134121 (141920 150238 159171 168699 189771 213843 | 241531
(A) $745.60 per quarter 15 A train runs on time on Wednesdays and Thursdays approximately 60% of the time.

(B) $3267.55 per quarter Wednesday Thursday
on
(C) $3080.34 per quarter e
06
(D) $526.95 per quarter
o 0.4
TR ~ late
13 Joshua buys a car for $23 990. It depreciates at a rate of 18% per year, How much is the car worth {
after 5 years? 0.4
\_\ - f:w

‘-..“*
late

(A) $8894.05

(B) $19 671.80 K

(C) $15095.95

late

What is the probability that the train will be late on either Wednesday or Thursday and on time the
other day?

(D) $4318.20
(A) 50%
(B) 24%
(C) 48%

(D) 16%
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16

17

19

The formula for estimating a female's blood alcohol content is given by

10N-7.5H
5.5M

BA C,remaie =
where BAC is the blood alcohol concentration (in mg per 100 mL sample of blood), N is the number
of standard drinks consumed,  is the number of hours of drinking and M is the female’s mass (kg).
Calculate the BAC of a 69 kg female who has consumed five standard drinks in 4 hours.

(A) 0.007
(B) 0.053
(C) 0.033

(D) 0.026

Sara purchased concert tickets on August 9* for $290 on her credit card. She was charged an annual
compound interest rate of 18.25%. There is no interest-free period on her credit card and she made no
other purchases. Sara receives a statement and pays the amount owing on September 20", How much
interest did she pay?

(A) $296.30

(B) 56.30

(C) $296.17

(D) $6.17

‘Which of the following is a point on the equator?
(A) (40°W, 0°)
(B) (40°N, 0°)
(C) (0% 40°W)

(D) (0°, 40°N)

In a class of 21 students, how many different groups of three can be made?
(A) 1330
(B} 7980
(C) 1140

(D) 2660

20

2

—

22

23

A test has a standard deviation of 14. Fiona's mark is 87% and has a z-score of 1.5. What is the mean
for the test?

(A) 59%
(B) 80%
(C) 73%

(D) 66%

Rosebury is 150 km on a bearing of 130° from Thornbury. What is the bearing of Thombury from
Rosebury?

N
(A) 230° 130*
(B) 320° Thombury
(C) 130° .

(D) 310° \ )

..~ Rosebury

A patient receives her chemotherapy medication through an intravenous drip. She receives 350 mL in
an hour and a half delivered at a constant rate. If | mL contains 9 drops, what is the drip rate per
hour?

(A) 58 drips per hour

(B) 2100 drips per hour

(C) 3150 drips per hour

(D) 525 drips per hour

What are the coordinates of the half-way point between Los Angeles, USA (34°N, 119°W) and
Sydney (34°S, 151°E) if you are travelling over the prime meridian?

(A) (0° 45°W)
(B) (0°,45%E)
(C) (0°, 16°E)

(D) (0%, 164°E)
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Section II Student Number:

24 Which of the following is an example of an exponential function?

-3 75 marks
(A) yi== Attempt Questions 26 - 30
Allow about 1 hour and 55 minutes for this section
(B) y=-3x*
Answer the questions in the spaces provided.
(C) y=-3%
Your responses should include relevant mathematical reasoning and/or calculations.
D) y=-3x°

Extra writing space is provided on page 25. If you use this space, clearly indicate which question you are
answering.

(]
tn

A sample of 50 fish were captured, tagged and released back into the dam. Later another sample of

120 fish were captured. 13% of these were tagged. What is the best estimate of the population of fish

in the dam?
Question 26 (15 marks)
(A) 333
a) This table shows the monthly and fortnightly repayments for some reducing balance loans over
(B) 800 different terms.
1 year et 18 months r 2 years
(D) 400 | Loanamounr hly | formightly monthly fortnighty hly  formightdy
SLU DK Ses3 S408 Sal6 8280 8447 5215
520 0K S1770 815 $1213 5339 S035 S430
S50 000 82635 $1223 Sisiy SE3H S1402 Sad6
S40 000 Si540 S1630 Sis6Y S117 S2415 Ss6l
1) What is the total amount to be repaid on a $40 000 loan over two vears with monthly 1

repayments?

ii) How much interest would be saved by making fortnightly payments on a $40 000 loan 2
over two years?

Question 26 continues on page 11
END OF SECTION I
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Question 26 (continued) Student Number:

Question 26 (continued) Student Number:
b) The stem-and-leaf plot shows the test results of two classes. c) 8
A
Class & Class B 20 / N
Leaves Stems  Leaves 10/ \1o
4 \
80| 6 (00 25° \
| B A c
50 7 0133567 L-» 2
64|l & |4as6 i) Show £ADB = 5€°.
[ | I
644210/| 9 (12
0o/ 10
|
i) Find the range, median and interquartile range for Class B. 3
.............................................................................................. i) Find the size of LABC, Justify each step.
ii) Describe the shape of the distribution for each class. 2

d) Thomas travels 38 km to work in the morning and returns 38 km home in the evening.

i) During a five-day work week, how many kilometres does Thomas travel?

ii) Thomas’s car has a fuel consumption of 7.5 L/100 km. How many litres of petrol
does Thomas use travelling to and from work in a week?

iii) If petrol costs $1.78 per litre when Thomas fills his tank, how much is his petrol bill for
work- related travel this week?

End of Question 26
Question 26 continues on page 12
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Question 27 (continued) Student Number:

Question 27 (15marks) Student Number:

a) This archery target has a bull’s-eve with radius 6em. Each additional ring is 6 cm wide. b} The table below show the height and arm span of 10 top male swimmers.
Height (h cm) 190 192 199 18§ 197 187 LI 198 193 19w
{Amspansem) 192 | 194 202 189 200 188 196 202 T 200

i) Determine the correlation coefficient. 1
ii) Describe the correlation between height and arm span. 1
iii) Determine the equation of the least-squares line of best fit. Round calculations 3

to 2 decimal places.

¢} Calculate the shaded area, to 2 decimal places. 3
iv) If Pete shoots 30 arrows at the target, how many arrows would he expect to hit the 1
bull’s-eve?
Question 27 continues on page 15
Question 27 continues on page 14
2014 KC KWS - Year 12 HSC Trial Examination 2014 — General Mathematics Page 14 of 26
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Question 27 (continued) Student Number:

d) Solve the equation:

3x—16=12 - 5x

L=

End of Question 27

Question 28 (15 marks) Student Number:

a) Michael is travelling from Capetown, South Africa (34"S, 18°E) to Sydney (34°S, 151°E).

i} If the radius of the earth is approximately 6400 km, determine the shortest distance
between the two cities, to the nearest kilometre.

1) If the plane travels at an average speed of 820 km/h, how long will it take to fly from
Capetown to Sydney in hours and minutes?

iii) Before leaving for Sydney. Michael wants to call his sister in Sydney.

If Sydney is UTC +10 and Capetown is UTC +2 and Michael wants to get a hold of his sister

at 6:00 pm, what time should he call?

iv) Michael’s plane leaves Capetown at 12:32 pm. What time is it scheduled to arrive in
Sydney?

b) The letters of the word HOLIDAY'S are randomly arranged. Calculate the probability that:

i) the letters are arranged alphabetically

ii) the arrangement begins with H and ends with

Question 28 continues on page 17

[

2014 KC
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Question 28 (continued) Student Number: Question 29 (15 merks) Studeut Namber:

a) The cost of using the Apple Charter Bus Company is € = 400 + 10n, where 1 is the number of

¢) Ryan throws a ball into the air. The height, / in metres, the ball travels in 7 seconds is given by the o e e T

formula:
h=~t' 44 +1 i) The City Charter Bus Li ides the same service. The table below shows the cost
i) What is the independent variable? 1 1) The City Charter Bus Line provides service. :
O Number of students,n | 5 | 10 | 15 | 20 | 25
Cost, C | 250 | 400 | 550 | 700 | 850
ii) Construct a table of values and draw the graph of the ball’s height. 3
T T 1 Write an equation describing the cost in dollars, C, with any number of students, 7.

ii) What is the gradient of the City Charter Bus Line and what does it represent?

[ |
‘ | iii) Using the equations above, find the cost of transporting 23 students with each bus company.
iii) Explain why quadrants II, III and IV are unnecessary for vour graph. 2
.............................................................................. iv) How many students can travel on each bus line for a fixed cost of $940?
{5 WHE 16 fie sl Helght thit 6 Ball reatkies? e T P P PP PO PSP T PO PO PRTP PO

End of Question 28 Question 29 continues on page 19

(]

L]

ta
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Question 29 (continued) Student Number:

Question 29 (continued) Student Number:

c) Phone charges are shown in the step-function graph below.
v) Graph both equations on the same number plane.

1=

Phone charges
1000 T T T 4
[ ] ;‘ : ] e e

900 . ! Eos 'JI |

800 : i | '-":_:_ 0.6 -i —r— e
—. 700 T e e e e
7 | 5 R |
= 600 U-ET—- ~——
3 | HERN :
g M T . i 3 3 4
% 400 | Time (min)
8] | [

300 ; . 5 .

| | 1) How much 1s a 2 minute call?
200 |
100
0 | | B .
0 5 10 15 20 25 30 35 40 45 50 ii) What is the cost of a call that lasts for 3 minutes and 12 seconds?
Number of students
vi) For how many students is the cost of using the bus companies the same? 1
b) In a game of chance, there is a 40% of winning, a 40% chance of losing and a 20% chance 2

drawing. If you win the prize is $5. If you lose, you pay $3. There is no penalty/ reward for a
draw. What is the financial expectation of the game?

End of Question 29
Question 29 continues on page 20
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Question 30 (15 marks) SHidsENinl e Question 30 (continued) Student Number:

. . b) Luke stands 2 metres tall and casts a 3 m shadow. At the same time of day, a tree casts a 2
e / k . . h : . :
8) Hemiet radal enrvey ot block pftand, LMNP shadow that is 30 metres long. Determine the height of the tree.
}I A
2270 X, :
N, 1Es0
30m\ 065
A\

s Net to
A, scals 2m

/, O \\ism

A
26m 3im
/ N > a
7 h M i 30m
N 1Z°
238°
i)  Explain the differences between a radial survey and a plane table survey. L e v e g A R R o £ S R T B R R
¢) This is a cube with a cone-shaped hole.
4 cm

ii) A garden is being established in the PLOsector. Determine its area, to the nearest 2 @)

square metre. 6cm

............................................................................................................... 6 om R

............................................................................................................... ) ‘Whatis the volume of the solid, to 3 significant figures? 3

Question 30 continues on page 22

Question 30 continues on page 23
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Question 30 (continued) Student Number: Question 30 (continued) Student Number:

1)  Approximately how many males were aged 20-24 in 20117 1

d) The following population pyramids Australian population in 2011 and its population projection
for 2050.

Male Australia - 2011 Female

i | |
815 652 326

4g9 163

Population (in thousands)

Male Australia - 2050 Fermnale

I i |
S0 778 582 388 194 o L] 194 38E 582 776 97

i jsangsi 4ge Group Popylation fin thoysands

End of Paper
Question 30 continues on page 24

2 /S - ial Exami - Gener ; 24 of 2
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Student Number: _ SOLATIO S

MULTIPLE CHOICE ANSWER SHEET

For multiple choice questions, choose the best answer A, B, C or D and fill in the correct circle.

Section II Student Number: SoL (U TlonS

75 marks

Attempt Questions 26 - 30

Allow about 1 hour and 55 minutes for this section
Answer the questions in the spaces provided.

Your responses should include relevant mathematical reasoning and/or calculations.

Extra writing space is provided on page 25. If you use this space, clearly indicate which question you are
answering.

Question 26 (15 marks)

a) This table shows the monthly and fortnightly repayments for some reducing balance loans over
different terms.

S10 000 L8385 S408

520 000 S1770 815 $1213 8559 §935 §430
S$30 00O 82655 £1223 1819 £538 S1402 S646
S40 000 S1540 S1630 S1849 si17 £2425 S861

i) What is the total amount to be repaid on a $40 000 loan over two years with monthly 1
repayments?

ii) How much interest would be saved by making fortnightly payments on a $40 000 loan 2
over two years?

Sol R L L = MLET R M

Question 26 continues on page 11

ENONON  NO) v @ 0 0@
. @ ®0O® BN ONON N0
S ONONGN ) 5 @ @ 00©®
. @®OO TANON - XONG)
s @0 TENONON N0
. @ ®00 v @ OO0
7. ®0©® 20. @@@0
T ON  XCXO) S ONORGN
. @00 2 @OO®
n @ ® © ® 5 ®© 00
n @ ® ©© N ONON NO)
2 @ ® 00 5 @ ®0O0®
n @ ® 00
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Question 26 (continued) Student Number: SolbAATONS Question 26 (continued) Student Number:

b) The stem-and-leaf plot shows the test results of two classes. c)

Class A Class B
Leaves Stems Leaves

80 00

50
6 4

of)3 3 5!5 7 A
¢
45/0 i) Show £APB = 58°. 2
12 e ;
ool w | e N m S 2T AR O AR SN i M
10 Rt e e

6
p £
8
9

64 4 2 10

) i the ange, i and et range for Clas . , i
lic:t“%.k A2 -0 =232 A

Medhianm = 155

o
.............. oLz 85-00=04 “

ii) Describe the shape of the distribution for each class. 2

ds.oeaetivela | Skeadedk i
R +
agualldkk\i”‘““{“’
d) Thomas travels 38 km to work in the morning and returns 38 km home in the evening.

i) During a five-day work week, how many kilometres does Thomas travel? 1

§ ) o

ii) Thomas’s car has a fuel consumption of 7.5 L/100 km. How many litres of petrol 1
does Thomas use travelling to and from work in a week?

WKEASSLLY

iii) If petrol costs $1.78 per litre when Thomas fills his tank, how much is his petrol bill for 1
work- related travel this week?

Question 26 continues on page 12 End of Question 26
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Student Number:

Question 27 (15marks)

a) This archery target has a bull’s-eye with radius 6cm. Each additional ring is 6 cm wide.

i) What is the total area of the target, to 4 significant figures?

il) What is the area of the bull’s-eye, to 4 significant figures?

ey bl

.....J.l‘i;..!.“;"‘.’::....,‘.‘.,..................................‘.‘......‘...‘.,.,....A...”.‘..

iii) What is the probability of hitting the bull’s-eye?

iv) If Pete shoots 30 arrows at the target, how many arrows would he expect to hit the
bull’s-eye?

alr,
[<“.‘..t‘u'n.-.‘n‘h............................................-.‘......

oAk X 38,5,

Question 27 continues on page 14

2014 KC KWS - Year 12 HSC Trial Examination 2014 — General Mathematics Page 13 of 26

Question 27 (continued)

Student Number:

b) The table below show the height and arm span of 10 top male swimmers.

190 192 199 188 197 @ 187
192 194 2002 189 | 200 188

by

i) Determine the correlation coefficient.
o

S

ii) Describe the correlation between height and arm span.

...‘.3.‘5?'..[5.*..L-:l...1:1(.'.‘.*'.'..':1.‘;:1.t.....'5.'f".".'f.i.,"..‘z‘?.‘..‘.?".f-.‘y.).,...‘........,..................

iii) Determine the equation of the least-squares line of best fit. Round calculations

to 2 decimal places.

194
196

198
202

193 199
197 200

Y E XA ol m=09q8, 4 8 00 -
I F. 24
g i % S Lw {s
lo - L},‘ X b= 196 - 112 V137 12,65

c) Calculate the shaded area, to 2 decimal places.

36 cm

51 em
ANz T ENE
Tacy : v =
ot 2 e R 353,45

LSS wp

Question 27 continues on page 15

L’R'— 35— 2258
k
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Student Number:

Question 27 (continued)
3x—16=12 —5x
TSx

d) Solve the equation:
5

tll i,

e

End of Question 27

K'WS - Year 12 HSC Trial Examination 2014 — General Mathematics

Student Number:

Question 28 (15 marks)
a) Michael is travelling from Capetown, South Africa (34°S, 18°E) to Sydney (34°S, 151°E).
t,/

i) If the radius of the earth is approximately 6400 km, determine the shortest distance

between the two cities, to the nearest kilometre.
AErTxleNog . ...

IS{—18§

sewa

[
.} 5 &: kt"\

Capetown to Sydney in hours and minutes?
SURSUIRSRNN |11 1 7Y 2 (0 [ o G

sassssssbissnsnnas “{ s
ii) If the plane travels at an average speed of 820 km/h, how long will it take to fly from

iii) Before leaving for Sydney, Michael wants to call his sister in Sydney.
If Sydney is UTC +10 and Capetown is UTC +2 and Michael wants to get a hold of his sister

at 6:00 pm, what time should he call?
‘;\’;.,,I?J.uJ..:;E.'*

What time is it scheduled to arrive in

iv) Michael’s plane leaves Capetown at 12:32 pm.
i
.29.. Ce A, Nk, "...'-(_'_':...L'.,'E;'.‘.t;.*
Jﬁ(’tka\)\i’clmqjuI,L;,{q(uv\k >

Sydney?
[2:32 508 Iein. 2 b 34

b) The letters of the word HOLIDAYS are randomly arranged. Calculate the probability that:

i) the letters are arranged alphabetically
|

Question 28 continues on page 17
Page 16 of 26

KWS - Year 12 HSC Trial Examination 2014 — General Mathematics

2014 KC

Page 15 of 26

2014 KC



Question 28 (continued) Student Number:

¢) Ryan throws a ball into the air. The height, /& in metres, the ball travels in ¢ seconds is given by the
formula:
h=-t*+4t+1
i) What is the independent variable? 1

!r = t.%‘.’\,x(:,.- /

ii) Construct a table of values and draw the graph of the ball’s height. 3

I
)

Gt | O |2 2|4

g [ e[ LN
\.o/i(.l . j\M'L £ .

|_—1

2
/ -f,;.bl{/?r.’tlah L’e-u\‘, o
< | ? 95 T (S)
/{ (na
iii) Explain why quadrants I1, III and IV are unnecessary for your graph. 2
Tow ¢ ‘:.‘..'.!.l haye veafve g . oo 5 ’ .............
Dol dogsul. ekl oeled.. Beavad..
iv) What is the maximum height that the ball reaches? 1

End of Question 28

2014 KC KWS - Year 12 HSC Trial Examination 2014 — General Mathematics Page 17 of 26

Question 29 (15 marks) Student Number:

a) The cost of using the Apple Charter Bus Company is C = 400 4+ 10n, where n is the number of
students and C is the cost in dollars.

i) The City Charter Bus Line provides the same service. The table below shows the cost. 2

v = Yoo =15
/ Number of students,n | 5 | 10 | 15 | 20 | 25 | ' e
kY ' Cost, C 250 | 400 | 550 | 700 | 850 - %0

‘Write an equation describing the cost in dollars, C, with any number of students, n.

R 12T I N (it <)% I £ 2. A
150 = KO rb b=ioo
ii) What is the gradient of the City Charter Bus Line and what does it represent? 2

BYe Z.

iii) Using the equations above, find the cost of transporting 23 students with each bus company. 2

Bl S AN S o L m BOUTBRE s

,....f.-.\p.p.h'....L‘..lv.ﬁ'::-'.;!(.-r..‘.Am.L':.S.m‘.-i'q;-c.w;..t(.i.?..’%fi...,,.......,.....,...................

iv) How many students can travel on each bus line for a fixed cost of $940? 2

i !.-I-{U_ CAasnter 4o - Yoo "'On
s WO
Syo VOen
o o \//
n =54

Question 29 continues on page 19

2014 KC KWS - Year 12 HSC Trial Examination 2014 — General Mathematics Page 18 of 26



Question 29 (continued) Student Number:

Question 29 (continued) Student Number:
c) Phone charges are shown in the step-function graph below.
v) Graph both equations on the same number plane. / 2
C‘hl Ut Phone charges
1000 T
900 /'?I"’*YPI‘ Chgritr -~ Y
800 V4 Sosg 5 i
@Uﬁ—-- - Ot
_ 700 Bod4l | & {
£ 60 ‘302__..
3 .
£ MWe—r i 2 3 4
Z 400 Time (min)
s}
300 /
i i) How much is a 2 minute call? 1
0
0 5 10 15 20 25 30 35 40 45 50 ii) What is the cost of a call that lasts for 3 minutes and 12 seconds? 1
Number of students F .
vi) For how many students is the cost of using the bus companies the same? 1
b) Ina game of chance, there is a 40% of winning, a 40% chance of losing and a 20% chance 2
drawing. If you win the prize is $5. If you lose, you pay $3. There is no penalty/ reward for a
draw, What is the financial expectation of the game?
C“*lﬂkixf“,s
End of Question 29
Question 29 continues on page 20
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Question 30 (15 marks) Student Number:

a) Here is a radial survey of a block of land, LMNP:

i) Explain the differences between a radial survey and a plane table survey. 2
Kadiak. swrosi et s Conpass. o). Sk, and erasirss L
ST egds
AT G AV

oz

ii) A garden is being established in the PLOsector. Determine its area, to the nearest 2
square metre.

Question 30 continues on page 22
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Question 30 (continued) Student Number:

b) Luke stands 2 metres tall and casts a 3 m shadow. At the same time of day, a tree casts a
shadow that is 30 metres long. Determine the height of the tree.

c) This is a cube with a cone-shaped hole.

i) What is the volume of the solid, to 3 significant figures?

...HH.;.{-‘:.1(&.&..f....":).l.‘L.’...'..'.-‘!.c?...I...'....r.:.t.!.A‘..‘.".i...‘.‘.\/.‘....‘..........,......,

ii) How many millilitres would it take to fill the hols?

f s - 2 W g
Ne dedtnozle =S | cim bewe = ] weals
-} -
A oS ek v
Question 30 continues on page 23
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Question 30 (continued) Student Number: Question 30 (continued) Student Number:

d) The following population pyramids Australian population in 2011 and its population projection i) Approximately how many males were aged 20-24 in 20117 1
for 2050. .
D000 v f00 000
- e e e IR.000. 12 KO0 Q09 s Mo,
ii) Approximate the increase of females aged 65-69 from 2011 to 2050. 1
B, (alia o JU TN | 7 O =L = = S e

- ..-‘;).k{,}.'{.\.“!--‘:‘- .".-l’.‘&'?{.\g.‘.Pﬁ’.r?l.i.h.‘.).‘.’:g'}q...‘;AK.LJ:'{.‘.‘.‘:!.&f;‘.J.‘...‘.]'.{.'W:".‘.".‘.".. Y Jo LU TRSSE i

B15 652 489 326 815
Population (in thousands)
Male Australia - 2050 Female

970 776 582 3a8 194

Question 30 continues on page 24 End of Paper
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